
Extra Challenge

I can explore the order of operations using brackets.

Think of your own BODMAS calculations to complete each statement.

Use this space for your working out jottings:

1)	                                         	>	438	÷	6	+	(32	×	4)	=	                                         >                                         

3)	 2594	-	(538	×	3	-	852)	>	                                         >                                          >                                         

5)	                                         	=	                                        	=	(9³	-	9)	÷	80	=	                                        

2)	                                         	=	                                        	<	2.55	+	(5.6	×	7.8)	<	                                         

4)	                                          <                                          <                                         	<	639	×	(6²	+	64)	
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